Math 3201 Chapter 3 - Combination Probability

1. Ajar contains 2 white marbles and 5 green marbles. Three marbles are drawn
simultaneously. What is the probability that:

(A) two of the marbles are green?
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(B) at least two marbles are green?
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(C) no white marbles are drawn?
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2. A school committee of 5 members is to be formed from a selection pool of 9 boys
and 7 girls, What is the probability that:

(A) there are 2 boys and 3 girls on the committee?
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(B) the girls are the majority?
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(C) Jane is on the committee, and there are no other restrictions?

lf: 5(4,\{ (S on */L( Coamm ‘L"'CQ -\’t_er(’ ave.
N\ ow) 0’1(‘j |(’P€°q'°\°~ Xo Cheoic ?rmv\ q—o’\ we

m“%"l" 36\2_‘)& 4— My re_ .
- D_
SRR ST S RLEN S

gmj—: 'S CA\_: (70(95’ _\_ AVSL?
or= "Sl.Z/)



(D)Brian is on the committee, but Nathan is not, and there are no other restrictions?
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3. Five males and six females are in a selection pool for a committee of 3 people. What
is the probability at most 2 males are on the committee?
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4. In asample of households with a vehicle, four owned a truck and five owned a car. If
three households were randomly selected from the sample, calculate the probability
that two would have a car and one would have a truck.

’\‘:D\CSZQA‘\

5. Given the following grid, what is the probability of a path from A to B passing
through the dot?




